Step 1: Compute covariance matrix from all existing data

S; Sy, S3 54

Z

t )
Cpi = (d;dl) =
t, o L —m
ts o
ty
51 5)
tg t
e.q. t, t,
Leti=1andj=2: di_> s | © 4_d]
t t
S; Sy S3 54
51
C,, = [54(t1)s,(t;) + s4(t,)s,(t,) + s4(t)s,(t, )]/ 3 57
53

Tg (f (fg)




51

S, 83 54

Step 2: Compute eigenvectors of C
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in MATLAB, need to fliplr(E), then:
each column in E is a spatial mode
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Step 3: Find the temporal mode

One way would be to ignore all missing data: a;(t;) = El(tl)Téfg.
N
But instead we calculate a linear combination ai(ty) = Z (b:d(t1) &;).
of multiple modes: i=1
N-m
This notation is ambiguous, though: ai(ty) = Z (f;q:;l(tl)Téq}.
q=1

where N-m is the number of non-missing spatial points at time t; and
i is the EOF mode



Step 4: Compute b vector and amplitude estimate at each temporal point
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